Name: SOL VTIoNS Student ID:

MATH 53, QUIZ 2: STEwWART 10.4-12.3

Be sure to show neat, organized, complete work in the space provided.
1. Find the two unit vectors in R? satisfying the stated conditions.

(a) Parallel to the line y =3x +2 ;
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(b) Perpendicular to the line x + y = 1
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(Continued on back.)



2. Consider the polar curve r = 4 sin(0).

(a) Sketch a picture in the x y-plane of this polar curve for 0 < 6 < 7.
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(b) Calculate the exact length of the portion of the curve with 7/3 < 6 < 7/2. Whether you use calculus or
some other method is up to you.
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Final answer: 3

Feedback: If you have any feedback youd like to share, please write it here. If there are any specific topics
you are confused about, feel free to write them here as well.




